Exploring Hereditary Traits

Objective
To determine your possible genotypes for some
inherited traits

Prccess Skills

Observy

ing, communicating, inferring

-

Materials
Pencil, paper

Inquiry

1

Make a table with three columns and nine
rows. Head the columns Trair, Phenotype,
arnd Possible Genotypes. In the first column
iist the nine traits shown below.

In the second column of the rable, write ves
or no depending on whether or nor vou
possess each trait. Work with a parmer. For
trairs that you cannot observe directly, ask
vour partner for help. Each of the traits list-
ed is controlled by a dominant allele.

x Torgue-rolling (RY: Stick our vour rongue
ana try ro roll up the sides so that the
rongue forms a U-shape.

» Free earlobe (F): The lobe of the ear
hangs treely below the point of attach-
ment to the head.

» Widow’s peak (W): The midpoint of the
hairline along the front of the forehead
points downward.

® Straight thumb (N): When exrended from
~e paim of the hand, the top segment of
the thumb forms a straight line wmh the
botrom segment. (See figure.)

® Bent little finger (B): The last segment of the
liwle finger bends in toward the ring finger.

n Lef‘-oz'er~rngt thumb crossing (L): When
the hands are folded in a natural fashion,

Conclusions Answers j'o
1 Which observations are evidence thar the

Name

P&l’lo‘c&

Date

» Mid-digital hair (H): Hair is present on

the middle section of any of the fingers.
= Short big toe (T): The big toe is shorter
than the second toe.

3 In the third column of the table, record

vour possible genotvpes for each rtrairt, using
the appropriate svmbols.

Compare vour traits’ with those of vour
classmares. Which trait or traits are most
common among vour classmartes?
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most common trair mav not be determined
bv the dominanr allele? Which dominant al-
leles studied today were most common?
Whar factors should be considered before
comparing the frequency of traits in the
classroom with their frequency in the U.S.
population?

Further Inquiry
Review all the traits studied and discuss in class
possible adaptive advanrage of each trait.

the lefr thumb crosses over the right.

® Chkin cleft (Ci: The center of the chin has

8% incenrtation resembling a deep dimple.
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